ERMEL=—7Hvh—U—7B1 (F) 48 - 58

&% [SAmA]

10:30 40 =UERA40 TN A *yh—x
12:00 40 XKFLy K Fyh—X FE40
3 | 48138 | KWFBC — -
13:30 40 FAATILT FE40 KFL vy R
15:00 60 T>Yad =/YER60 FAFTILT
10:00 40 KFCIZ/E Bt &40 TN
Y=< R AR 11:30 40 VA Fyh—X KFCazJE
4 | 48208 i
BRiE 13:00 50 B R50 =YER50 #E50
14:30 50 F—IL R F1R50 54450
10:00 40 KFL oy R 140 FAFTIL= |Bh0x
11:30 40 FAFTILT % KFLy K | =PHEB40/50 - FRIE50
5 | 4B278 BiE
13:00 50 KFREG Bt %50 %
14:30 EE1d 0-50581k Z Dfth @t F—LANTEHESEWNLET,
10:00 L 0-503&1t, 0-70= Z Dty B0 x
11:30 70 0-7054 0-50= st ZHER60 - F—IL K 550 - vt
6| SR4R | HXAQ TP a460 KFCHE - KFL v K
RIE - E40/50 -+ F v H— 40
10:30 40 FAFTILT KFCiz& B&40  |0-50EAS
. 12:00 40 KFL oy R Bt &40 FAFTLT |Bh0x
7 | 58118 BiE . .
13:30 60 <S AL =/YER60 KFLy R |F—F 50 KFREG50 - H&50
10:00 40 TN HiE HE50 |&mx
B - Yea =K 11:30 50 1550 KFREG 7Y+ | =mmEr4o/50
%81 13:00 50 F—IL K Bt %50 KFREG
14:30 60 >yaA <~ HhI F—ILKw
10:00 40 TN KFL oy R FR40
11:30 40 40 % =PYERA0
9 | 56258 | H=ELH® —
13:00 40 =PYER40 KFCIZ/E %
14:30 70 0-70:4 KFCIzZ/E
HEH B3%)
EER EEAE Hil=% FESE R
KXFLy FREZ—X 3 3 1 0] 3
EEYKFCIZ/E 2 3 3 0] 1
B A &RA40 1 2 2 0] 1
BE =MER40 1 3 2 0] 2
FC. T4#71= 3 4 0 0 4
A 1) 2 2 3 0] 1
¥ v H—X1970 1 1 2 0] 1
5= FRSC40 2 2 2 0] 2
" EIE RS 2 3 3 0 1
1 2 2 0 1
[=] 0 0 1 0 1
E24 1 1 2 0 0
1 1 1 0] 1
2 2 2 0] 0]
F—LIv¥aq - Fyh—X 0 0 1 0 1
= =HER60 0 0 0 0] 2
< HIL60 0 0 1 0 1
X d 1 1
Z Dty 2 2




